THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid OCWUT SC-1096 Ended At Mar 6, 2024 10:00:00 AM CST CONSTRUCTION/OCWUT - Sanitary Sewer Rehabilitation

Company:	Urban Contractors	Krapff Reynolds Construction Company	Matthews Trenching Co., Inc.
Base Bid	\$2,994,648.00	\$3,729,296.50	\$3,822,650.00
TOTAL BID:	\$2,994,648.00	\$3,729,296.50	\$3,822,650.00

Tresha Williams City Clerk Angee Wagner Purchasing Agent

Brett Rangel

Potential Bid Defects Noted:

- **#1** Anti-collusion affidavit not properly notarized
- **#2** Bid Bond missing
- **#3** Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- **#5** Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a nonpublished document for review by staff.

Bid #OCWUT SC-1096 - Sanitary Sewer Rehabilitation

Creation Date Jan 2, 2024

Start Date Jan 22, 2024 9:29:25 AM CST

End Date Mar 6, 2024 10:00:00 AM CST

Awarded Date Not Yet Awarded

OCWUT SC-109601-01 Base Bid: SEDIMENT AND EROSION CONTROL									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Matthews Trenching Co., Inc.		First Offer - \$3,500.00	1 / lump sum	\$3,500.00	Y	Y			
Product Code: 1			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						
Urban Contractors		First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y			
Product Code: 1			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						
Krapff Reynolds Construction Company		First Offer - \$28,983.00	1 / lump sum	\$28,983.00	Y	Y			
Product Code: 1			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes: Bid	bond attached to this	s bid item				

OCWUT SC-109601-02 Base Bid: DEWATERING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$1.00	1 / lump sum	\$1.00		Y
Product Code: 2		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Y
Product Code: 2		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Y
Product Code: 2		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-109601-03 Base Bid: TRENCH EXCAVATION AND BACKFILL 0FT TO 10FT												
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs							
Krapff Reynolds Construction Company	First Offer - \$1.00	168 / linear foot	\$168.00		Y							
Product Code: 3	Supplier Product Code	2:										
Agency Notes:	Supplier Notes:											
Urban Contractors	First Offer - \$5.00	168 / linear foot	\$840.00		Y							
Product Code: 3		Supplier Product Code:										
Agency Notes:		Supplier Notes:										
Matthews Trenching Co., Inc.	First Offer - \$20.00	168 / linear foot	\$3,360.00		Y							
Product Code: 3		Supplier Product Code	2:									
Agency Notes:		Supplier Notes:										

OCWUT SC-109601-04 Base Bid: TRENCH EXCAVATION AND BACKFILL 0FT TO 15FT									
Supplier Unit Price Qty/Unit Total Price Attch. Docs									

	CWUT SC-1096 - y Sewer	City of Oklahoma Cir its Trusts	ty and		
Kr	apff Reynolds Construction Company	First Offer - \$2.00	532 / linear foot	\$1,064.00	Y
	oduct Code: 4 gency Notes:		Supplier Product Code Supplier Notes:	2:	
Ur	ban Contractors	First Offer - \$5.00	532 / linear foot	\$2,660.00	Y
	oduct Code: 4 gency Notes:		Supplier Product Code Supplier Notes:	2:	
M	atthews Trenching Co., Inc.	First Offer - \$30.00	532 / linear foot	\$15,960.00	Y
	oduct Code: 4 gency Notes:		Supplier Product Code Supplier Notes:	2:	

OCWUT SC-109601-05 Base Bid: EMBEDMENT MATERIAL												
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs							
Matthews Trenching Co., Inc.	First Offer - \$65.00	121 / cubic yard	\$7,865.00		Y							
Product Code: 5	Supplier Product Code	e:										
Agency Notes:	Supplier Notes:											
Krapff Reynolds Construction Company	First Offer - \$67.00	121 / cubic yard	\$8,107.00		Y							
Product Code: 5		Supplier Product Code:										
Agency Notes:		Supplier Notes:										
Urban Contractors	First Offer - \$100.00	121 / cubic yard	\$12,100.00		Y							
Product Code: 5		Supplier Product Code	e:									
Agency Notes:		Supplier Notes:										

OCWUT SC-109601-06 Base Bid: BORING (8 INCH)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$50.00	20 / linear foot	\$1,000.00		Y					
Product Code: 6	Supplier Product Cod	de:								
Agency Notes:	Supplier Notes:									
Krapff Reynolds Construction Company	First Offer - \$420.00	20 / linear foot	\$8,400.00		Y					
Product Code: 6		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$750.00	20 / linear foot	\$15,000.00		Y					
Product Code: 6		Supplier Product Coo	de:							
Agency Notes:		Supplier Notes:								

OCWUT SC-109601-07 Base Bid: CURB AND GUTTER											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Urban Contractors	First Offer - \$25.00	80 / linear foot	\$2,000.00		Y						
Product Code: 7	Supplier Product Cod	de:									
Agency Notes:	Supplier Notes:										
Krapff Reynolds Construction Company	First Offer - \$100.00	80 / linear foot	\$8,000.00		Y						
Product Code: 7		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
Matthews Trenching Co., Inc.	First Offer - \$165.00	80 / linear foot	\$13,200.00		Y						
Product Code: 7		Supplier Product Cod	de:								
Agency Notes:		Supplier Notes:									

OCWUT SC-109601-08 Base Bid: ABANDONING MANHOLE (4FT DIAMETER)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Krapff Reynolds Construction Company	First Offer - \$500.00	8 / each	\$4,000.00		Y					
Product Code: 8	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Urban Contractors	First Offer - \$500.00	8 / each	\$4,000.00		Y					
Product Code: 8		Supplier Product Code:								
Agency Notes:	Supplier Notes:									

Sani	OCWUT SC-1096 - tary Sewer	City of Oklahoma City a its Trusts			
	Matthews Trenching Co., Inc.	First Offer - \$1,000.00	8 / each	\$8,000.00	Y
	Product Code: 8		Supplier Product Co	ode:	
	Agency Notes:		Supplier Notes:		

OCWUT SC-109601-09 Base Bid: REMOVING MANHOLE (4FT DIAMETER)											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Krapff Reynolds Construction Company	First Offer - \$1,000.00	2 / each	\$2,000.00		Y						
Product Code: 9	Supplier Product C	ode:									
Agency Notes:		Supplier Notes:									
Matthews Trenching Co., Inc.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y						
Product Code: 9		Supplier Product C	ode:								
Agency Notes:		Supplier Notes:									
Urban Contractors	First Offer - \$2,000.00	2 / each	\$4,000.00		Y						
Product Code: 9		Supplier Product C	ode:								
Agency Notes:		Supplier Notes:									

OCWUT SC-109601-10 Base Bid: MANHOLE LID RETROFIT (EJ HINGED LID MODEL No. 4142100L03)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$1,500.00	38 / each	\$57,000.00		Y				
Product Code: 10		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$3,000.00	38 / each	\$114,000.00		Y				
Product Code: 10		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$5,000.00	38 / each	\$190,000.00		Y				
Product Code: 10		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109601-11 Base Bid: PLUMBER, PER PROPERTY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Matthews Trenching Co., Inc.	First Offer - \$500.00	7 / each	\$3,500.00		Y				
Product Code: 11 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Urban Contractors	First Offer - \$1,000.00	7 / each	\$7,000.00		Y				
Product Code: 11		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$20,500.00	7 / each	\$143,500.00		Y				
Product Code: 11		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

Jrban ContractorsFirst Offer - \$1.0010392 / linear foot\$10,392.00YProduct Code: 12 Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:YKrapff Reynolds Construction CompanyFirst Offer - \$4.5010392 / linear foot\$46,764.00Y						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Urban Contractors	First Offer - \$1.00	10392 / linear foot	\$10,392.00		Y	
Product Code: 12		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Krapff Reynolds Construction Company	First Offer - \$4.50	10392 / linear foot	\$46,764.00		Y	
Product Code: 12		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Matthews Trenching Co., Inc.	First Offer - \$6.00	10392 / linear foot	\$62,352.00		Y	
Product Code: 12		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

OCWUT SC-109601-13 Base Bid: GPS INCHAS BUILT INCH SURVEY						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

bid #OCWUT SC-1096 - Sanitary Sewer	City of Oklahoma City a its Trusts	nd			
Matthews Trenching Co., Inc.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00	Y	Y
Product Code: 13 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Krapff Reynolds Construction Company	First Offer - \$14,000.00	1 / lump sum	\$14,000.00	Y	Y
Product Code: 13 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Urban Contractors	First Offer - \$25,000.00	1 / lump sum	\$25,000.00	Y	Y
Product Code: 13 Agency Notes:		Supplier Product Co Supplier Notes:	ode:	· · · ·	

OCWUT SC-109601-14 Base Bid: COLOR AUDIO/VIDEO RECORDING, PRE AND POST CONSTRUCTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y				
Product Code: 14		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Urban Contractors	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y				
Product Code: 14		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y				
Product Code: 14		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109601-15 Base Bid: SEWER SERVICE CONNECTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$300.00	190 / each	\$57,000.00		Y				
Product Code: 15		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$1,500.00	190 / each	\$285,000.00		Y				
Product Code: 15		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$2,000.00	190 / each	\$380,000.00		Y				
Product Code: 15		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109601-16 Base Bid: SEWER SERVICE LINE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$7.00	2360 / linear foot	\$16,520.00		Y					
Product Code: 16		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$40.00	2360 / linear foot	\$94,400.00		Y					
Product Code: 16		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$50.00	2360 / linear foot	\$118,000.00		Y					
Product Code: 16		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT SC-109601-17 Base Bid: ABANDONING SEWER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Urban Contractors	First Offer - \$200.00	20 / cubic yard	\$4,000.00		Y			
Product Code: 17	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$250.00	20 / cubic yard	\$5,000.00		Y			
Product Code: 17		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT SC-1096 - tary Sewer	City of Oklahoma City its Trusts	and		
Krapff Reynolds Construction Company	First Offer - \$603.00	20 / cubic yard	\$12,060.00	Y
Product Code: 17		Supplier Product Coc	le:	
Agency Notes:		Supplier Notes:		

OCWUT SC-109601-18 Base Bid: TRENCHLESS CONSTRUCTION (8 INCH)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$212.00	8787 / linear foot	\$1,862,844.00		Y				
Product Code: 18 Agency Notes:		Supplier Product Code Supplier Notes:	:						
Matthews Trenching Co., Inc.	First Offer - \$220.00	8787 / linear foot	\$1,933,140.00		Y				
Product Code: 18 Agency Notes:		Supplier Product Code Supplier Notes:	:						
Urban Contractors	First Offer - \$220.00	8787 / linear foot	\$1,933,140.00		Y				
Product Code: 18 Agency Notes:		Supplier Product Code Supplier Notes:	:						

OCWUT SC-109601-19 Base Bid: SEWER FLOW CONTROL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Y			
Product Code: 19 Agency Notes:	Supplier Product Co Supplier Notes:	ode:						
Urban Contractors	First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Y			
Product Code: 19 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Matthews Trenching Co., Inc.	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Y			
Product Code: 19 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

OCWUT SC-109601-20 Base Bid: POINT REPAIR					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$500.00	6 / each	\$3,000.00		Y
Product Code: 20		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$5,000.00	6 / each	\$30,000.00		Y
Product Code: 20		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$20,000.00	6 / each	\$120,000.00		Y
Product Code: 20		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-109601-21 Base Bid: DEFLECTION TEST (LESS THAN 24 INCH)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$500.00	1 / lump sum	\$500.00		Y					
Product Code: 21		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y					
Product Code: 21		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y					
Product Code: 21		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								

OCWUT SC-109601-22 Base Bid: TELEVISION INSPE	CTION (CCTV)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

bid #OCWUT SC-1096 - Sanitary Sewer		City of Oklahoma C its Trusts	City and		
	Krapff Reynolds Construction Company	First Offer - \$1.50	9661 / linear foot	\$14,491.50	Y
	Product Code: 22 Agency Notes:		Supplier Product Code: Supplier Notes:		
	Matthews Trenching Co., Inc.	First Offer - \$3.00	9661 / linear foot	\$28,983.00	Y
	Product Code: 22 Agency Notes:		Supplier Product Code: Supplier Notes:		
	Urban Contractors	First Offer - \$5.00	9661 / linear foot	\$48,305.00	Y
	Product Code: 22 Agency Notes:		Supplier Product Code: Supplier Notes:		

OCWUT SC-109601-23 Base Bid: SEWER LEAKAGE TEST (GREATER THAN 24 INCH)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$250.00	1 / lump sum	\$250.00		Y					
Product Code: 23 Agency Notes:		Supplier Product Co Supplier Notes:	ode:							
Krapff Reynolds Construction Company	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y					
Product Code: 23 Agency Notes:	Supplier Product Co Supplier Notes:	ode:								
Matthews Trenching Co., Inc.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y					
Product Code: 23 Agency Notes:		Supplier Product Co Supplier Notes:	ode:							

OCWUT SC-109601-24 Base Bid: (4FT) SANITARY SEWER MANHOLE (0 to 6FT) (EJ HINGED LID MODEL #4142100L03)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Krapff Reynolds Construction Company	First Offer - \$8,800.00	14 / each	\$123,200.00		Y					
Product Code: 24		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								
Urban Contractors	First Offer - \$10,000.00	14 / each	\$140,000.00		Y					
Product Code: 24		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$12,500.00	14 / each	\$175,000.00		Y					
Product Code: 24		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								

OCWUT SC-109601-25 Base Bid: EXTRA DEPTH MANHOLE WALL (4FT)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$300.00	56 / vertical foot	\$16,800.00		Y					
Product Code: 25		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$400.00	56 / vertical foot	\$22,400.00		Y					
Product Code: 25		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$1,000.00	56 / vertical foot	\$56,000.00		Y					
Product Code: 25		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								

OCWUT SC-109601-26 Base Bid: MANHOLE TESTING (LESS THAN 24 INCH)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$500.00	1 / lump sum	\$500.00		Y				
Product Code: 26	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$15,500.00	1 / lump sum	\$15,500.00		Y				
Product Code: 26		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT SC-1096 - ary Sewer	City of Oklahoma City a its Trusts	nd		
Krapff Reynolds Construction Company	First Offer - \$26,000.00	1 / lump sum	\$26,000.00	Y
Product Code: 26		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT SC-109601-27 Base Bid: SANITARY SEWER MANHOLE REHABILITATION										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Krapff Reynolds Construction Company	First Offer - \$200.00	327 / vertical foot	\$65,400.00		Y					
Product Code: 27		Supplier Product Code:	:							
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$200.00	327 / vertical foot	\$65,400.00		Y					
Product Code: 27		Supplier Product Code:	:							
Agency Notes:		Supplier Notes:								
Urban Contractors	First Offer - \$220.00	327 / vertical foot	\$71,940.00		Y					
Product Code: 27		Supplier Product Code:	:							
Agency Notes:		Supplier Notes:								

OCWUT SC-109601-28 Base Bid: ABANDONING MANHOLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$300.00	88 / each	\$26,400.00		Y					
Product Code: 28		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$500.00	88 / each	\$44,000.00		Y					
Product Code: 28		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$1,000.00	88 / each	\$88,000.00		Y					
Product Code: 28		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								

OCWUT SC-109601-29 Base Bid: POLYVINYL CHLORIDE (PVC)(8 INCH)(SDR 35)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Krapff Reynolds Construction Company	First Offer - \$215.00	688 / linear foot	\$147,920.00		Y					
Product Code: 29		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$250.00	688 / linear foot	\$172,000.00		Y					
Product Code: 29		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
Urban Contractors	First Offer - \$300.00	688 / linear foot	\$206,400.00		Y					
Product Code: 29		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

DCWUT SC-109601-30 Base Bid: CONSTRUCTION STAKING (CONSTRUCTION SURVEY)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$3,000.00	1 / lump sum	\$3,000.00		Y				
Product Code: 30		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$13,250.00	1 / lump sum	\$13,250.00		Y				
Product Code: 30		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y				
Product Code: 30		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109601-31 Base Bid: CONSTRUCTION	SIGNING AND TRAFFIC CON	TROL			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

bid #OCWUT SC-1096 - Sanitary Sewer	City of Oklahoma City a its Trusts	nd		
Matthews Trenching Co., Inc.	First Offer - \$12,850.00	1 / lump sum	\$12,850.00	Y
Product Code: 31 Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Urban Contractors	First Offer - \$20,000.00	1 / lump sum	\$20,000.00	Y
Product Code: 31 Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Krapff Reynolds Construction Company	First Offer - \$50,000.00	1 / lump sum	\$50,000.00	Y
Product Code: 31 Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

OCWUT SC-109601-32 Base Bid: CLEARING AND GRUBBING									
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs		
Krapff Reynolds Construction Company		First Offer - \$50,000.00	1 / lump sum		\$50,000.00		Y		
Product Code: 32 Agency Notes:			Supplier Product C Supplier Notes:	ode:					
Matthews Trenching Co., Inc.		First Offer - \$115,000.00	1 / lump sum		\$115,000.00		Y		
Product Code: 32			Supplier Product C	ode:	·				
Agency Notes:			Supplier Notes:						
Urban Contractors		First Offer - \$240,000.00	1 / lump sum		\$240,000.00		Y		
Product Code: 32			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						

OCWUT SC-109601-33 Base Bid: STRUCTURE REMOVAL (12 INCH LAMPHOLE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$300.00	3 / each	\$900.00		Y				
Product Code: 33	Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$500.00	3 / each	\$1,500.00		Y				
Product Code: 33		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$500.00	3 / each	\$1,500.00		Y				
Product Code: 33		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109601-34 Base Bid: STRUCTURE REMOVAL (8 INCH SANITARY SEWER)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Krapff Reynolds Construction Company	First Offer - \$10.00	12 / linear foot	\$120.00		Y				
Product Code: 34		Supplier Product Coc	le:						
Agency Notes:		Supplier Notes:							
Urban Contractors	First Offer - \$25.00	12 / linear foot	\$300.00		Y				
Product Code: 34		Supplier Product Coc	le:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$75.00	12 / linear foot	\$900.00		Y				
Product Code: 34		Supplier Product Coc	le:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109601-35 Base Bid: REMOVE CURB AND GUTTER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$10.00	80 / linear foot	\$800.00		Y			
Product Code: 35	Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$20.00	80 / linear foot	\$1,600.00		Y			
Product Code: 35		Supplier Product Coc	le:					
Agency Notes:		Supplier Notes:						

OCWUT SC-1096 - tary Sewer	City of Oklahoma City its Trusts	/ and		
Urban Contractors	First Offer - \$25.00	80 / linear foot	\$2,000.00	Y
Product Code: 35		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

OCWUT SC-109601-36 Base Bid: REMOVE AND REPLACE DRIVEWAY (CONCRETE)									
Supplier	L	Jnit Price	Qty/Unit	Total Price	Attch.	Docs			
Urban Contractors	First Offer	- \$80.00	160 / square yard	\$12,800.00		Y			
Product Code: 36			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Krapff Reynolds Construction Company	First Offer -	\$175.00	160 / square yard	\$28,000.00		Y			
Product Code: 36			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer -	\$195.00	160 / square yard	\$31,200.00		Y			
Product Code: 36			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

OCWUT SC-109601-37 Base Bid: PAVEMENT CUT AND PERMANENT REPAIR (CONCRETE)										
Supplier	Unit	: Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$10	00.00	187 / square yard	\$18,700.00		Y				
Product Code: 37		9	Supplier Product Code:							
Agency Notes:		9	Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$27	75.00	187 / square yard	\$51,425.00		Y				
Product Code: 37		9	Supplier Product Code:							
Agency Notes:		9	Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$42	20.00	187 / square yard	\$78,540.00		Y				
Product Code: 37		9	Supplier Product Code:							
Agency Notes:		9	Supplier Notes:							

OCWUT SC-109601-38 Base Bid: REMOVE AND REPLACE SIDEWALK (6FT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$80.00	40 / square yard	\$3,200.00		Y				
Product Code: 38		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$100.00	40 / square yard	\$4,000.00		Y				
Product Code: 38		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$195.00	40 / square yard	\$7,800.00		Y				
Product Code: 38		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT SC-109601-39 Base Bid: SOLID SLAB SOD	DDII	NG				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors		First Offer - \$0.25	12000 / square yard	\$3,000.00	Y	Y
Product Code: 39 Agency Notes:			Supplier Product Code: Supplier Notes: Signed bio	d bond has been uplo	oaded here	2.
Matthews Trenching Co., Inc.		First Offer - \$10.00	12000 / square yard	\$120,000.00		Y
Product Code: 39 Agency Notes:			Supplier Product Code: Supplier Notes:			
Krapff Reynolds Construction Company		First Offer - \$12.00	12000 / square yard	\$144,000.00		Y
Product Code: 39 Agency Notes:			Supplier Product Code: Supplier Notes:			

Supplier Totals

f Urban Cont	actors	\$2,994,648.00 (39/39 items)	
Bid Contact	Amy Hampton urbancontr@aol.com Ph 405-478-5370 Fax 405-478-5618	Address 7113 N. Bryant Ave Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:
f Krapff Reyn	olds Construction Company	\$3,729,296.50 (39/39 items)	
Bid Contact	Jim King fred@krapff-reynolds.com Ph 405-733-9682 Fax 405-516-0081	Address 2400 N.E. 4th st Oklahoma City, OK 73117	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:
f Matthews T	renching Co., Inc.	\$3,822,650.00 (39/39 items)	
Bid Contact	Gary Matthews pferguson@mtciokc.com Ph 405-677-4525 Fax 405-677-4835	Address 919 S Fairmont Ave Oklahoma City, OK 73129	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid OCWUT SC-1106 Ended At Mar 6, 2024 10:00:00 AM CST CONSTRUCTION/OCWUT - Sanitary Sewer Replacement

Company:	4M Trenching, LLC	United Trenching, Inc.	Matthews Trenching Co., Inc.
BASE BID	\$2,012,380.00	\$2,847,403.00	\$2,898,365.00
TOTAL BID:	\$2,012,380.00	\$2,847,403.00	\$2,898,365.00

Tresha Williams

Angee Wagner Purchasing Agent Brett Rangel Auditor

Potential Bid Defects Noted:

- **#1** Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- **#3** Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- **#5** Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

End Date

Bid #OCWUT SC-1106 - Sanitary Sewer Replacement

Creation Date Jan 22, 2024

Start Date Jan 31, 2024 8:05:27 AM CST

Mar 6, 2024 10:00:00 AM CST

Awarded Date Not Yet Awarded

OCWUT SC-110601-01 BASE BID: MOBILIZA	ΓΙΟΝ				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.	First Offer - \$50,000.00	1 / lump sum	\$50,000.00	Y	Y
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:		
4M Trenching, LLC	First Offer - \$100,000.00	1 / lump sum	\$100,000.00	Y	Y
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes: Bid b			
United Trenching, Inc.	First Offer - \$200,000.00	1 / lump sum	\$200,000.00	Y	Y
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:		

OCWUT SC-110601-02 BASE BID: CONSTRUCTION STAKING (CONSTRUCTION SURVEY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
4M Trenching, LLC	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
United Trenching, Inc.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

OCWUT SC-110601-03 BASE BID: DEWATERI	NG				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
United Trenching, Inc.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
4M Trenching, LLC	First Offer - \$14,000.00	1 / lump sum	\$14,000.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

OCWUT SC-110601-04 BASE BID: TRENCH SA	AFETY				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
United Trenching, Inc.	First Offer - \$100,000.00	1 / lump sum	\$100,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
4M Trenching, LLC	First Offer - \$120,000.00	1 / lump sum	\$120,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

OCWUT SC-1106 - tary Sewer	City of Oklahoma 0 its Trusts	City and			
Matthews Trenching Co., Inc.	First Offer - \$275,000.00	1 / lump sum	\$275,000.00	Y	
Product Code:		Supplier Product Coc	le:		
Agency Notes:		Supplier Notes:			

OCWUT SC-110601-05 BASE BID: TRENCHING	OCWUT SC-110601-05 BASE BID: TRENCHING EXCAVATION AND BACKFILL (0 TO 15 FEET)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
United Trenching, Inc.	First Offer - \$10.00	810 / linear foot	\$8,100.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$25.00	810 / linear foot	\$20,250.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
4M Trenching, LLC	First Offer - \$31.00	810 / linear foot	\$25,110.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT SC-110601-06 BASE BID: TRENCHING	EXCAVATION AND BAG	CKFILL (0 TO 20 FEET)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
United Trenching, Inc.	First Offer - \$20.00	145 / linear foot	\$2,900.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$30.00	145 / linear foot	\$4,350.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
4M Trenching, LLC	First Offer - \$45.00	145 / linear foot	\$6,525.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT SC-110601-07 BASE BID: TRENCHING	EXCAVATION AND BAC	CKFILL (0 TO 25 FEET)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
United Trenching, Inc.	First Offer - \$30.00	234 / linear foot	\$7,020.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$35.00	234 / linear foot	\$8,190.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
4M Trenching, LLC	First Offer - \$97.00	234 / linear foot	\$22,698.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT SC-110601-08 BASE BID: TRENCHIN	G EXCAVATION AND BAC	KFILL (0 TO 30 FEET)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.	First Offer - \$40.00	444 / linear foot	\$17,760.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
United Trenching, Inc.	First Offer - \$45.00	444 / linear foot	\$19,980.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
4M Trenching, LLC	First Offer - \$207.00	444 / linear foot	\$91,908.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT SC-110601-09 BASE BID: TRENCHIN	OCWUT SC-110601-09 BASE BID: TRENCHING EXCAVATION AND BACKFILL (0 TO 35 FEET)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		

bid #OCWUT SC-1106 - Sanitary Sewer	City of Oklahor its Tru:			
Matthews Trenching Co., Inc.	First Offer - \$45.00	420 / linear foot	\$18,900.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
United Trenching, Inc.	First Offer - \$55.00	420 / linear foot	\$23,100.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
4M Trenching, LLC	First Offer - \$268.00	420 / linear foot	\$112,560.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

CWUT SC-110601-10 BASE BID: TRENCHING EXCAVATION AND BACKFILL (0 TO 40 FEET)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Matthews Trenching Co., Inc.	First Offer - \$50.00	670 / linear foot	\$33,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
United Trenching, Inc.	First Offer - \$65.00	670 / linear foot	\$43,550.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
4M Trenching, LLC	First Offer - \$333.00	670 / linear foot	\$223,110.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

DCWUT SC-110601-11 BASE BID: 8 INCH PVC (SDR 26) SANITARY SEWER PIPE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
4M Trenching, LLC	First Offer - \$35.00	15 / linear foot	\$525.00		Y				
Product Code:	Supplier Product Code	:							
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$90.00	15 / linear foot	\$1,350.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
United Trenching, Inc.	First Offer - \$180.00	15 / linear foot	\$2,700.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

OCWUT SC-110601-12 BASE BID: 12 INCH PVC (SDR 26) SANITARY SEWER PIPE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
4M Trenching, LLC	First Offer - \$86.00	44 / linear foot	\$3,784.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$100.00	44 / linear foot	\$4,400.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
United Trenching, Inc.	First Offer - \$200.00	44 / linear foot	\$8,800.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

OCWUT SC-110601-13 BASE BID: 21 INCH PVC (ASTM F679 PS46) SANITARY SEWER PIPE								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
4M Trenching, LLC		First Offer - \$126.00	796 / linear foot	\$100,296.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
United Trenching, Inc.		First Offer - \$474.00	796 / linear foot	\$377,304.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					

OCWUT SC-1106 - tary Sewer	City of Oklahon its Trus	,			
Matthews Trenching Co., Inc.	First Offer - \$535.00	796 / linear foot	\$425,860.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

DCWUT SC-110601-14 BASE BID: 21 INCH PVC (ASTM F679 PS115) SANITARY SEWER PIPE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
4M Trenching, LLC	First Offer - \$160.00	1860 / linear foot	\$297,600.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:	Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$550.00	1860 / linear foot	\$1,023,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
United Trenching, Inc.	First Offer - \$632.00	1860 / linear foot	\$1,175,520.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT SC-110601-15 BASE BID: BORING STEEL CASING (21 INCH CARRIER) WITH CASING SPACERS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Matthews Trenching Co., Inc.	First Offer - \$860.00	141 / linear foot	\$121,260.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
4M Trenching, LLC	First Offer - \$900.00	141 / linear foot	\$126,900.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
United Trenching, Inc.	First Offer - \$925.00	141 / linear foot	\$130,425.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT SC-110601-16 BASE BID: 5 FOOT DIA SANITARY SEWER FLAT SLAB MH (0 TO 6 FEET)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
United Trenching, Inc.	First Offer - \$7,500.00	5 / each	\$37,500.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
4M Trenching, LLC	First Offer - \$12,750.00	5 / each	\$63,750.00		Y				
Product Code:		Supplier Product Coc	le:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$26,000.00	5 / each	\$130,000.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

DCWUT SC-110601-17 BASE BID: 6 FOOT DIA SANITARY SEWER FLAT SLAB MH (0 TO 6 FEET)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
United Trenching, Inc.	First Offer - \$9,500.00	5 / each	\$47,500.00		Y				
Product Code:	Supplier Product Coc	le:							
Agency Notes:		Supplier Notes:							
4M Trenching, LLC	First Offer - \$24,000.00	5 / each	\$120,000.00		Y				
Product Code:		Supplier Product Coc	le:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$28,000.00	5 / each	\$140,000.00		Y				
Product Code:		Supplier Product Coc	le:						
Agency Notes:		Supplier Notes:							

OCWUT SC-110601-18 BASE BID: 5 FOOT DIA SANITARY SEWER FLAT SLAB DOGHOUSE MH (0 TO 6 FEET)						
Supplier Unit Price Qt	Qty/Unit	Total Price	Attch.	Docs		

 OCWUT SC-1106 - tary Sewer		City of Oklahoma its Trusts	5		
United Trenching, Inc.		First Offer - \$10,000.00	4 / each	\$40,000.00	Y
Product Code:			Supplier Product Cod	le:	
Agency Notes:			Supplier Notes:		
4M Trenching, LLC		First Offer - \$10,500.00	4 / each	\$42,000.00	Y
Product Code:			Supplier Product Cod	le:	
Agency Notes:			Supplier Notes:		
Matthews Trenching Co., Inc.		First Offer - \$26,000.00	4 / each	\$104,000.00	Y
Product Code:			Supplier Product Coc	le:	
Agency Notes:			Supplier Notes:		

OCWUT SC-110601-19 BASE BID: EXTRA DEPTH MANHOLE WALL (5 FOOT DIA)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
United Trenching, Inc.	First Offer - \$750.00	80 / vertical foot	\$60,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$755.00	80 / vertical foot	\$60,400.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
4M Trenching, LLC	First Offer - \$770.00	80 / vertical foot	\$61,600.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:	Supplier Notes:									

OCWUT SC-110601-20 BASE BID: EXTRA DEPTH MANHOLE WALL (6 FOOT DIA)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
United Trenching, Inc.	First Offer - \$925.00	140 / vertical foot	\$129,500.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$960.00	140 / vertical foot	\$134,400.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
4M Trenching, LLC	First Offer - \$1,210.00	140 / vertical foot	\$169,400.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								

OCWUT SC-110601-21 BASE BID: MANHOLE TESTING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
4M Trenching, LLC	First Offer - \$355.00	14 / each	\$4,970.00		Y					
Product Code:	Supplier Product Cod	le:								
Agency Notes:	Supplier Notes:									
Matthews Trenching Co., Inc.	First Offer - \$5,000.00	14 / each	\$70,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
United Trenching, Inc.	First Offer - \$10,000.00	14 / each	\$140,000.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								

OCWUT SC-110601-22 BASE BID: SANITARY SEWER MANHOLE REHABILITATION										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
United Trenching, Inc.	First Offer - \$425.00	11 / vertical foot	\$4,675.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$595.00	11 / vertical foot	\$6,545.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

bid #OCWUT SC-1106 - Sanitary Sewer	City of Oklahor its Tru	,		
4M Trenching, LLC	First Offer - \$800.00	11 / vertical foot	\$8,800.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCWUT SC-110601-23 BASE BID: CONNECT TO EXISTING MANHOLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	2 / each	\$5,000.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
4M Trenching, LLC	First Offer - \$3,150.00	2 / each	\$6,300.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
United Trenching, Inc.	First Offer - \$5,000.00	2 / each	\$10,000.00		Y					
Product Code:		Supplier Product Coc	le:							
Agency Notes:		Supplier Notes:								

OCWUT SC-110601-24 BASE BID: ABANDON 12 INCH SANITARY SEWER PIPE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
United Trenching, Inc.	First Offer - \$15.00	2695 / linear foot	\$40,425.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
4M Trenching, LLC	First Offer - \$16.50	2695 / linear foot	\$44,467.50		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$20.00	2695 / linear foot	\$53,900.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								

OCWUT SC-110601-25 BASE BID: ABANDON 4 FT DIA SANITARY SEWER MANHOLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Matthews Trenching Co., Inc.	First Offer - \$1,000.00	1 / each	\$1,000.00		Y					
Product Code:	Supplier Product Cod	le:								
Agency Notes:	Supplier Notes:									
4M Trenching, LLC	First Offer - \$1,250.00	1 / each	\$1,250.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
United Trenching, Inc.	First Offer - \$3,500.00	1 / each	\$3,500.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								

OCWUT SC-110601-26 BASE BID: ABANDON 5 FT DIA SANITARY SEWER MANHOLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Matthews Trenching Co., Inc.	First Offer - \$2,000.00	5 / each	\$10,000.00		Y					
Product Code:		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								
4M Trenching, LLC	First Offer - \$2,750.00	5 / each	\$13,750.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
United Trenching, Inc.	First Offer - \$6,000.00	5 / each	\$30,000.00		Y					
Product Code:		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								

OCWUT SC-110601-27 BASE BID: ABANDON 6 FT DIA SANITARY SEWER MANHOLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			

	DCWUT SC-1106 - ary Sewer	City of Oklahoma its Trusts	5		
Ν	Matthews Trenching Co., Inc.	First Offer - \$2,000.00	1 / each	\$2,000.00	Y
1	Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
4	IM Trenching, LLC	First Offer - \$3,600.00	1 / each	\$3,600.00	Y
1	Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	
ι	Jnited Trenching, Inc.	First Offer - \$9,000.00	1 / each	\$9,000.00	Y
1	Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:	

OCWUT SC-110601-28 BASE BID: SEWER FLOW CONTROL (BYPASS PUMPING)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Matthews Trenching Co., Inc.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Y					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
United Trenching, Inc.	First Offer - \$65,000.00	1 / lump sum	\$65,000.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
4M Trenching, LLC	First Offer - \$65,000.00	1 / lump sum	\$65,000.00		Y					
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:							

OCWUT SC-110601-29 BASE BID: POST CONSTRUCTION TELEVISION INSPECTION (CCTV)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
4M Trenching, LLC	First Offer - \$1.60	2855 / linear foot	\$4,568.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
United Trenching, Inc.	First Offer - \$4.00	2855 / linear foot	\$11,420.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$8.00	2855 / linear foot	\$22,840.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT SC-110601-30 BASE BID: GPS AS BUILD SURVEY							
Supplier	Unit Prie	e Qty/Unit	Total Price	Attch.	Docs		
4M Trenching, LLC	First Offer - \$2,500.0) 1 / lump sum	\$2,500.00		Y		
Product Code:	Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$3,500.0) 1 / lump sum	\$3,500.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
United Trenching, Inc.	First Offer - \$4,000.0) 1 / lump sum	\$4,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

OCWUT SC-110601-31 BASE BID: COLOR AUDIO/VIDEO RECORDING PRE & POST CONSTRUCTION DVD							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Matthews Trenching Co., Inc.	First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
4M Trenching, LLC	First Offer - \$9,000.00	1 / lump sum	\$9,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT SC-1106 - tary Sewer	City of Oklahoma City and its Trusts			
United Trenching, Inc.	First Offer - \$13,000.00	1 / lump sum	\$13,000.00	Y
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

OCWUT SC-110601-32 BASE BID: SWPPP AND EROSION CONTROL DEVICES							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Matthews Trenching Co., Inc.	First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
United Trenching, Inc.	First Offer - \$19,000.00	1 / lump sum	\$19,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
4M Trenching, LLC	First Offer - \$70,000.00	1 / lump sum	\$70,000.00		Y		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					

OCWUT SC-110601-33 BASE BID: SOLID SLAB SODDING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
United Trenching, Inc.	First Offer - \$4.00	746 / square yard	\$2,984.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
4M Trenching, LLC	First Offer - \$7.25	746 / square yard	\$5,408.50		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$10.00	746 / square yard	\$7,460.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT SC-110601-34 BASE BID: HYDRAULIC SEEDING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
United Trenching, Inc.	First Offer - \$6,000.00	4 / acre	\$24,000.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$6,000.00	4 / acre	\$24,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
4M Trenching, LLC	First Offer - \$9,500.00	4 / acre	\$38,000.00		Y		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					

OCWUT SC-110601-35 BASE BID: DEFLECTION TEST								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
United Trenching, Inc.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
4M Trenching, LLC	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT SC-110601-36 BASE BID: SEWER LEAKAGE TEST (LESS THAN 24 INCH)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

bid #OCWUT SC-1106 - Sanitary Sewer	City of Oklahoma its Trusts	5		
United Trenching, Inc.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
4M Trenching, LLC	First Offer - \$8,000.00	1 / lump sum	\$8,000.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
Matthews Trenching Co., Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	

OCWUT SC-110601-37 BASE BID: TRAFFIC CONTROL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
4M Trenching, LLC	First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
United Trenching, Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

Supplier Totals

f 4M Trenchir	ig, LLC	\$2,012,380.00 (37/37 item	s)
Bid Contact	Mitchell Manning adam@4mtrenching.com Ph 405-942-4175	Address 4912 Bishop Dr Oklahoma City, OK 7312	8
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch: 🖟
f United Tren	ching, Inc.	\$2,847,403.00 (37/37 items)	
Bid Contact	Tony Ellison unitedtrenching@aol.com Ph 405-376-1122	Address 5506 Stewart Drive Mustang, OK 73064	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		·····	Head Attch: 🕖
f Matthews T	renching Co., Inc.	\$2,898,365.00 (37/37 item	s)
Bid Contact	Gary Matthews pferguson@mtciokc.com Ph 405-677-4525 Fax 405-677-4835	Address 919 S Fairmont Ave Oklahoma City, OK 7312	9
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws,

purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid OCWUT WM-0342/WM-0343 Ended At Mar 6, 2024 10:00:00 AM CST CONSTRUCTION/OCWUT - Lake Road Pavement Rehabilitation, South (Base Bid) and North (Alternate Bid)

Company:	Ellsworth Construction OKC dba Atech Paving	Rudy Construction Co.	Silver Star Construction Company
Base Bid	\$3,755,398.348	\$3,681,084.40	\$4,990,000.00
Alternate	\$3,704,103.225	\$3,791,654.20	\$4,865,000.00
TOTAL BID:	\$7,459,501.573	\$7,472,738.60	\$9,855,000.00

Tresha Williams City Clerk Angee Wagner Purchasing Agent Brett Rangel Auditor

Potential Bid Defects Noted:

- **#1** Anti-collusion affidavit not properly notarized
- **#2** Bid Bond missing
- **#3** Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- **#5** Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT WM-0342/WM-0343 - Lake Road Pavement Rehabilitation, South (Base Bid) and North (Alternate Bid)

Creation Date Jan 29, 2024

Start Date Feb 14, 2024 7:40:21 AM CST

End Date Mar 6, 2024 10:00:00 AM CST

Awarded Date Not Yet Awarded

OCWUT WM-0342/WM-034301-01 Base Bid: UNCLASSIFIED EXCAVATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$14.00	14501 / cubic yard	\$203,014.00	Y	Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$18.35	14501 / cubic yard	\$266,093.35		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Silver Star Construction Company	First Offer - \$29.00	14501 / cubic yard	\$420,529.00	Y	Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

OCWUT WM-0342/WM-034301-02 Base Bid: PROOF ROLLING SUBGRADE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$0.20	32058 / square yard	\$6,411.60		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$0.30	32058 / square yard	\$9,617.40		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$0.65	32058 / square yard	\$20,837.70		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT WM-0342/WM-034301-03 Base Bid: TYPE A AGGREGATE BASE, CLASS A								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$63.00	9276 / cubic yard	\$584,388.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$75.50	9276 / cubic yard	\$700,338.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$81.00	9276 / cubic yard	\$751,356.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

OCWUT WM-0342/WM-034301-04 Base Bid: PROCESSING EXISTING BASE AND SURFACE, METHOD A							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$18.00	7778 / square yard	\$140,004.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$18.75	7778 / square yard	\$145,837.50		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$22.00	7778 / square yard	\$171,116.00		Y		
Product Code:		Supplier Product Code:					

OCWUT WM-0342/WM-034301-05 Base Bid: PROCESSING EXISTING BASE AND SURFACE, METHOD B								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$13.00	24280 / square yard	\$315,640.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$15.00	24280 / square yard	\$364,200.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$22.00	24280 / square yard	\$534,160.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT WM-0342/WM-034301-06 Base Bid: SUPER PAVE TYPE S5 (PG 64-22 OK) (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$132.15	3142 / ton	\$415,215.30		Y			
Product Code:		Supplier Product C	Code:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$150.00	3142 / ton	\$471,300.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$160.00	3142 / ton	\$502,720.00		Y			
Product Code:		Supplier Product C	Code:					
Agency Notes:		Supplier Notes:						

OCWUT WM-0342/WM-034301-07 Base Bid: SUPER PAVE TYPE S3 (PG 64-22 OK) (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$120.00	6313 / ton	\$757,560.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$120.05	6313 / ton	\$757,875.65		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$150.00	6313 / ton	\$946,950.00		Y			
Product Code:		Supplier Product C	Code:					
Agency Notes:		Supplier Notes:						

OCWUT WM-0342/WM-034301-08 Base Bid: CONCRETE HEADER CURB (12" X 6")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$8.95	19733 / linear foot	\$176,610.35		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Rudy Construction Co.	First Offer - \$15.00	19733 / linear foot	\$295,995.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Silver Star Construction Company	First Offer - \$18.00	19733 / linear foot	\$355,194.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

OCWUT WM-0342/WM-034301-09 Base Bid: MOISTURE BARRIER MEMBRANE (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1.35	41216 / square yard	\$55,641.60		Y		
Product Code:		Supplier Product Code:					

bid #OCWUT WM-0342/WM-0343 - Lake

-0342/WW-0343 - Lake	its Trusis			
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$3.75	41216 / square yard	\$154,560.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$5.00	41216 / square yard	\$206,080.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCWUT WM-0342/WM-034301-10 Base Bid: SEPARATOR FABRIC								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$2.50	7370 / square yard	\$18,425.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2.80	7370 / square yard	\$20,636.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$3.50	7370 / square yard	\$25,795.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT WM-0342/WM-034301-11 Base Bid: TACK COAT						
Supplier	Unit Price	Qty/Unit		Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$5.00	2110 / gallon		\$10,550.00		Y
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$5.95	2110 / gallon		\$12,554.50		Y
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$6.00	2110 / gallon		\$12,660.00		Y
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				

OCWUT WM-0342/WM-034301-12 Base Bid: SHEET ALUMINUM SIGNS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$41.10	60.18 / square foot	\$2,473.398		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$48.00	60.18 / square foot	\$2,888.64		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$50.00	60.18 / square foot	\$3,009.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT WM-0342/WM-034301-13 Base Bid: SQUARE S	FEEL SIGN POST (2")						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$22.00	132 / linear foot	\$2,904.00		Y		
Product Code:		Supplier Product Coc	le:				
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$23.50	132 / linear foot	\$3,102.00		Y		
Product Code:		Supplier Product Coc	le:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$28.00	132 / linear foot	\$3,696.00		Y		
Product Code:		Supplier Product Coc	le:				

OCWUT WM-0342/WM-034301-14 Base Bid: TRAFFIC S	STRIPE (PAINT) (4 INCH	HWIDE)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$0.45	41248 / linear foot	\$18,561.60		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$0.65	41248 / linear foot	\$26,811.20		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$1.10	41248 / linear foot	\$45,372.80		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT WM-0342/WM-034301-15 Base Bid: TRAFFIC STRIPE (PAINT) (24 INCH WIDE)								
Supplier	Ur	nit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba Atech Paving	First Offer -	\$11.75	12 / linear foot	\$141.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Silver Star Construction Company	First Offer -	\$14.00	12 / linear foot	\$168.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Rudy Construction Co.	First Offer - S	\$110.00	12 / linear foot	\$1,320.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					

OCWUT WM-0342/WM-034301-16 Base Bid: CONSTRU	CTION STAKING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$7,345.00	1 / lump sum	\$7,345.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$79,000.00	1 / lump sum	\$79,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

OCWUT WM-0342/WM-034301-17 Base Bid: GPS AS-BL	JILT SURVEY					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer -	\$5,000.00	1 / lump sum	\$5,000.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer -	\$5,645.00	1 / lump sum	\$5,645.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company	First Offer -	\$9,100.00	1 / lump sum	\$9,100.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			

OCWUT WM-0342/WM-034301-18 Base Bid: CONSTRU	JCTION TRAFFIC CONTROL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$29,325.00	1 / lump sum	\$29,325.00		Y
Product Code:		Supplier Product (Code:		

bid #OCWUT
WM-0342/WM-0343 - Lake

Agency Notes:			Supplier Notes:		
Rudy Construction Co.	First Offer - \$3	35,000.00	1 / lump sum	\$35,000.00	Y
Product Code:			Supplier Product C	ode:	
Agency Notes:			Supplier Notes:		
Silver Star Construction Company	First Offer - \$6	5,000.00	1 / lump sum	\$65,000.00	Y
Product Code:			Supplier Product C	ode:	
Agency Notes:			Supplier Notes:		

OCWUT WM-0342/WM-034301-19 Base Bid: MOBILIZ	ATION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$150,000.00	1 / lump sum	\$150,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$160,000.00	1 / lump sum	\$160,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$235,000.00	1 / lump sum	\$235,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

OCWUT WM-0342/WM-034301-20 Base Bid: CLEARING	G AND GRUBBING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$32,650.00	1 / lump sum	\$32,650.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$55,000.00	1 / lump sum	\$55,000.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			

OCWUT WM-0342/WM-034301-21 Base Bid: REMOVE GUARDRAIL										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$7.00	613 / linear foot	\$4,291.00		Y					
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$8.60	613 / linear foot	\$5,271.80		Y					
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:							
Silver Star Construction Company	First Offer - \$9.00	613 / linear foot	\$5,517.00		Y					
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:							

OCWUT WM-0342/WM-034301-22 Base Bid: TYPE II PLAIN RIPRAP WITH FILTER BLANKET										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$195.15	228 / cubic yard	\$44,494.20		Y				
Product Code:			Supplier Product Coc	le:						
Agency Notes:			Supplier Notes:							
Rudy Construction Co.		First Offer - \$200.00	228 / cubic yard	\$45,600.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Silver Star Construction Company		First Offer - \$265.00	228 / cubic yard	\$60,420.00		Y				
Product Code:			Supplier Product Coc	le:						

OCWUT WM-0342/WM-034301-23 Base Bid: 6 INCH EDGE DRAIN CONDUIT - PERFORATED (SP)											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Rudy Construction Co.	First Offer - \$13.00	12350 / linear foot	\$160,550.00		Y						
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:								
Silver Star Construction Company	First Offer - \$16.00	12350 / linear foot	\$197,600.00		Y						
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$24.75	12350 / linear foot	\$305,662.50		Y						
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:								

OCWUT WM-0342/WM-034301-24 Base Bid: 6 INCH EDGE DRAIN OUTLET LATERAL - NONPERFORATED (SP)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.		First Offer - \$13.00	420 / linear foot	\$5,460.00		Y				
Product Code:			Supplier Product Cod	le:						
Agency Notes:			Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving		First Offer - \$24.75	420 / linear foot	\$10,395.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Silver Star Construction Company		First Offer - \$40.00	420 / linear foot	\$16,800.00		Y				
Product Code:			Supplier Product Cod	le:						
Agency Notes:			Supplier Notes:							

OCWUT WM-0342/WM-034301-25 Base Bid: 6 INCH EDGE DRAIN OUTLET PIPE - NONPERFORATED, TRAFFIC RATED (SP)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$16.00	180 / linear foot	\$2,880.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$29.10	180 / linear foot	\$5,238.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company	First Offer - \$56.00	180 / linear foot	\$10,080.00		Y					
Product Code:		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								

OCWUT WM-0342/WM-034301-26 Base Bid: OUTLET LATERAL HEADWALL (SP)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$700.00	30 / each	\$21,000.00		Y				
Product Code:	Supplier Product (Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$993.00	30 / each	\$29,790.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$1,050.00	30 / each	\$31,500.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							

OCWUT WM-0342/WM-034301-27 Base Bid: BEAM-TYPE GUARDRAIL (SINGLE) (SP)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$35.20	519 / linear foot	\$18,268.80		Y					
Product Code:		Supplier Product Coo	le:							

bid #OCWUT
WM-0342/WM-0343 - Lake

Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$45.00	519 / linear foot	\$23,355.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$46.00	519 / linear foot	\$23,874.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

OCWUT WM-0342/WM-034301-28 Base Bid: GUARDRAIL END TREATMENT (31") (SP)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$3,850.00	4 / each	\$15,400.00		Y					
Product Code:	Supplier Product (Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4,695.00	4 / each	\$18,780.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company	First Offer - \$5,600.00	4 / each	\$22,400.00		Y					
Product Code:		Supplier Product (Code:							
Agency Notes:		Supplier Notes:								

OCWUT WM-0342/WM-034301-29 Base Bid: GUARDRAIL DELINEATORS (TYPE 2, CODE 1) (SP)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$29.50	12 / each	\$354.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Rudy Construction Co.		First Offer - \$30.00	12 / each	\$360.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Silver Star Construction Company		First Offer - \$35.00	12 / each	\$420.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

OCWUT WM-0342/WM-034301-30 Base Bid: SOLID SLAB SODDING											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Rudy Construction Co.	First Offer - \$4.00	22918 / square yard	\$91,672.00		Y						
Product Code:		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4.20	22918 / square yard	\$96,255.60		Y						
Product Code:		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
Silver Star Construction Company	First Offer - \$5.00	22918 / square yard	\$114,590.00		Y						
Product Code:		Supplier Product Code:									
Agency Notes:		Supplier Notes:									

OCWUT WM-0342/WM-034301-31 Base Bid: GEOTEXTILE FOR RIPRAP STABILIZATION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$3.00	458 / square yard	\$1,374.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$6.00	458 / square yard	\$2,748.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9.75	458 / square yard	\$4,465.50		Y		
Product Code:		Supplier Product Code	:				

DCWUT WM-0342/WM-034301-32 Base Bid: SEDIMENT AND EROSION CONTROL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Y			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$69,900.00	1 / lump sum	\$69,900.00		Y			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$93,838.76	1 / lump sum	\$93,838.76		Y			
Product Code:		Supplier Product (Code:					
Agency Notes:		Supplier Notes:						

OCWUT WM-0342/WM-034302-01 Alternate: UNCLASSIFIED EXCAVATION								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.		First Offer - \$14.00	15321 / cubic yard	\$214,494.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$18.35	15321 / cubic yard	\$281,140.35		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Silver Star Construction Company		First Offer - \$29.00	15321 / cubic yard	\$444,309.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					

DCWUT WM-0342/WM-034302-02 Alternate: PROOF ROLLING SUBGRADE								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	F	First Offer - \$0.20	30031 / square yard	\$6,006.20		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Silver Star Construction Company	F	First Offer - \$0.30	30031 / square yard	\$9,009.30		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	F	First Offer - \$0.65	30031 / square yard	\$19,520.15		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					

OCWUT WM-0342/WM-034302-03 Alternate: TYPE A AGGREGATE BASE, CLASS A									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.		First Offer - \$63.00	9844 / cubic yard	\$620,172.00		Y			
Product Code:			Supplier Product Code	2:					
Agency Notes:			Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving		First Offer - \$75.50	9844 / cubic yard	\$743,222.00		Y			
Product Code:			Supplier Product Code	2:					
Agency Notes:			Supplier Notes:						
Silver Star Construction Company		First Offer - \$80.75	9844 / cubic yard	\$794,903.00		Y			
Product Code:			Supplier Product Code	2:					
Agency Notes:			Supplier Notes:						

OCWUT WM-0342/WM-034302-04 Alternate: PROCESSING EXISTING BASE AND SURFACE, METHOD A							
Supplier Unit Price Qty/Unit Total Price Attch.							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$18.75	6145 / square yard	\$115,218.75		Y		
Product Code: Supplier Product Code:							

bid #OCWUT WM-0342/WM-0343 - Lake

Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$21.00	6145 / square yard	\$129,045.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$22.00	6145 / square yard	\$135,190.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCWUT WM-0342/WM-034302-05 Alternate: PROCESSING EXISTING BASE AND SURFACE, METHOD B								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba Atech Paving	First C	Offer - \$13.00	23886 / square yard	\$310,518.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Rudy Construction Co.	First C	Offer - \$16.00	23886 / square yard	\$382,176.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Silver Star Construction Company	First C	Offer - \$22.00	23886 / square yard	\$525,492.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					

OCWUT WM-0342/WM-034302-06 Alternate: SUPER PAVE TYPE S5 (PG 64-22 OK) (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$132.15	3115 / ton	\$411,647.25		Y		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:				
Silver Star Construction Company	First Offer - \$160.00	3115 / ton	\$498,400.00		Y		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:				
Rudy Construction Co.	First Offer - \$160.00	3115 / ton	\$498,400.00		Y		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:				

OCWUT WM-0342/WM-034302-07 Alternate: SUPER PAVE TYPE S3 (PG 64-22 OK) (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$120.05	6319 / ton	\$758,595.95		Y			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:					
Rudy Construction Co.	First Offer - \$125.00	6319 / ton	\$789,875.00		Y			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:					
Silver Star Construction Company	First Offer - \$150.00	6319 / ton	\$947,850.00		Y			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:					

DCWUT WM-0342/WM-034302-08 Alternate: CONCRETE HEADER CURB (12" X 6")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$8.95	15016 / linear foot	\$134,393.20		Y			
Product Code:		Supplier Product Code:	:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$15.00	15016 / linear foot	\$225,240.00		Y			
Product Code:		Supplier Product Code:	:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$18.00	15016 / linear foot	\$270,288.00		Y			
Product Code:		Supplier Product Code:	:					

OCWUT WM-0342/WM-034302-09 Alternate: MOISTURE BARRIER MEMBRANE (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1.35	39040 / square yard	\$52,704.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$3.75	39040 / square yard	\$146,400.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$5.00	39040 / square yard	\$195,200.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT WM-0342/WM-034302-10 Alternate: SEPARATOR FABRIC									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$2.50	8621 / square yard	\$21,552.50		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2.80	8621 / square yard	\$24,138.80		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$3.50	8621 / square yard	\$30,173.50		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WM-0342/WM-034302-11 Alternate: TACK COAT								
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs	
Silver Star Construction Company		First Offer - \$5.00	2108 / gallon		\$10,540.00		Y	
Product Code:		Supplier Product C	ode:					
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$5.95	2108 / gallon		\$12,542.60		Y	
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
Rudy Construction Co.		First Offer - \$6.00	2108 / gallon		\$12,648.00		Y	
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					

OCWUT WM-0342/WM-034302-12 Alternate: SHEET ALUMINUM SIGNS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$41.50	120.15 / square foot	\$4,986.225		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$48.00	120.15 / square foot	\$5,767.20		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$50.00	120.15 / square foot	\$6,007.50		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WM-0342/WM-034302-13 Alternate: SQUARE STEEL SIGN POST (2")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$22.00	252 / linear foot	\$5,544.00		Y			
Product Code:		Supplier Product Cod	le:					

bid #OCWUT City of Oklahoma City and its Trusts
Agency Notes:
City of Oklahoma City and its Trusts
Supplier Notes:
Supplier Notes:

Agency Notes: Si		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$23.75	252 / linear foot	\$5,985.00	Y
Product Code:			Supplier Product Cod	le:	
Agency Notes:			Supplier Notes:		
Silver Star Construction Company		First Offer - \$28.00	252 / linear foot	\$7,056.00	Y
Product Code:			Supplier Product Cod	le:	
Agency Notes:			Supplier Notes:		

OCWUT WM-0342/WM-034302-14 Alternate: TRAFFIC STRIPE (PAINT) (4 INCH WIDE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$0.45	37990 / linear foot	\$17,095.50		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$0.65	37990 / linear foot	\$24,693.50		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$1.10	37990 / linear foot	\$41,789.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WM-0342/WM-034302-15 Alternate: CONSTRUCTION STAKING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$6,400.00	1 / lump sum	\$6,400.00		Y			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:					
Rudy Construction Co.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Y			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:					
Silver Star Construction Company	First Offer - \$68,385.00	1 / lump sum	\$68,385.00		Y			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:					

OCWUT WM-0342/WM-034302-16 Alternate: GPS AS-BUILT SURVEY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:						
	F: + O.(+ F 200.00		#5 200 00		v				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$5,300.00	1 / lump sum	\$5,300.00		Y				
Product Code:		Supplier Product C	Code:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$8,100.00	1 / lump sum	\$8,100.00		Y				
Product Code:		Supplier Product C	Code:						
Agency Notes:		Supplier Notes:							

OCWUT WM-0342/WM-034302-17 Alternate: CONSTRUCTION TRAFFIC CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$6,000.00	1 / lump sum	\$6,000.00		Y				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$38,500.00	1 / lump sum	\$38,500.00		Y				
Product Code:		Supplier Product (Code:						

OCWUT WM-0342/WM-034302-18 Alternate: MOBILIZATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$159,200.00	1 / lump sum	\$159,200.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$181,634.25	1 / lump sum	\$181,634.25		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$190,000.00	1 / lump sum	\$190,000.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							

OCWUT WM-0342/WM-034302-19 Alternate: CLEARING AND GRUBBING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Y				
Product Code:	Supplier Product C	Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$29,400.00	1 / lump sum	\$29,400.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$64,000.00	1 / lump sum	\$64,000.00		Y				
Product Code:		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							

OCWUT WM-0342/WM-034302-20 Alternate: REMOVE GUARDRAIL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$7.00	1006 / linear foot	\$7,042.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$8.60	1006 / linear foot	\$8,651.60		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$9.00	1006 / linear foot	\$9,054.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

OCWUT WM-0342/WM-034302-21 Alternate: 6 INCH EDGE DRAIN CONDUIT - PERFORATED (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$13.00	10579 / linear foot	\$137,527.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$16.00	10579 / linear foot	\$169,264.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$24.75	10579 / linear foot	\$261,830.25		Y		
Product Code:		Supplier Product Code:	:				
Agency Notes:		Supplier Notes:					

OCWUT WM-0342/WM-034302-22 Alternate: 6 INCH EDGE DRAIN OUTLET LATERAL - NONPERFORATED (SP)							
Supplier	Unit Price Qty/Unit Total Price				Docs		
Rudy Construction Co.	First Offer - \$13.00	480 / linear foot	\$6,240.00		Y		
Product Code:		Supplier Product Cod	le:				

bid #OCWUT WM-0342/WM-0343 - Lake

	Supplier Notes:			
First Offer - \$24.75	480 / linear foot	\$11,880.00		Y
	Supplier Product Cod	le:		
	Supplier Notes:			
First Offer - \$40.00	480 / linear foot	\$19,200.00		Y
	Supplier Product Cod	le:		
	Supplier Notes:			
	First Offer - \$24.75	Supplier Product Cod Supplier Notes: First Offer - \$40.00 480 / linear foot	First Offer - \$24.75 480 / linear foot \$11,880.00 Supplier Product Code: Supplier Notes: First Offer - \$40.00 480 / linear foot \$19,200.00 Supplier Product Code: Supplier Product Code:	First Offer - \$24.75 480 / linear foot \$11,880.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$40.00 480 / linear foot \$19,200.00 Supplier Product Code: Supplier Product Code:

OCWUT WM-0342/WM-034302-23 Alternate: 6 INCH EDGE DRAIN OUTLET PIPE - NONPERFORATED, TRAFFIC RATED (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$16.00	90 / linear foot	\$1,440.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:	Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$29.10	90 / linear foot	\$2,619.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$56.00	90 / linear foot	\$5,040.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT WM-0342/WM-034302-24 Alternate: OUTLET LATERAL HEADWALL (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$700.00	33 / each	\$23,100.00		Y		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$850.00	33 / each	\$28,050.00		Y		
		Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$993.00	33 / each	\$32,769.00		Y		
		Supplier Product C Supplier Notes:	Code:				

OCWUT WM-0342/WM-034302-25 Alternate: BEAM-TYPE GUARDRAIL (SINGLE) (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$35.55	3406 / linear foot	\$121,083.30		Y		
		Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$40.00	3406 / linear foot	\$136,240.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:				
Silver Star Construction Company	First Offer - \$45.00	3406 / linear foot	\$153,270.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:				

OCWUT WM-0342/WM-034302-26 Alternate: GUARDRAIL END TREATMENT (31") (SP)							
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$3,450.00	6 / each	\$20,700.00		Y		
Product Code:	Supplier Product	Supplier Product Code:					
Agency Notes:	Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4,750.00	6 / each	\$28,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$5,400.00	6 / each	\$32,400.00		Y		
Product Code:		Supplier Product (Code:				
Supplier Notes:

Agency Notes:

OCWUT WM-0342/WM-034302-27 Alternate: GUARDRA	۱L	DELINEATORS (TYPE	2, CODE 1) (SP)			
Supplier		Unit Price	Qty/Unit	Total Price	e Attch.	Docs
Ellsworth Construction OKC dba Atech Paving		First Offer - \$29.65	70 / each	\$2,075.50		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$30.00	70 / each	\$2,100.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Silver Star Construction Company		First Offer - \$35.00	70 / each	\$2,450.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		

OCWUT WM-0342/WM-034302-28 Alternate: SOLID S	SLAB SODDING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$4.00	21354 / square yard	\$85,416.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4.20	21354 / square yard	\$89,686.80		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$5.00	21354 / square yard	\$106,770.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT WM-0342/WM-034302-29 Alternate: SEDIMEN	IT AND EROSION CONTRO	L			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$47,000.00	1 / lump sum	\$47,000.00	Y	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$80,011.25	1 / lump sum	\$80,011.25		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

Supplier Totals

f Ellsworth C	onstruction OKC dba Atech Paving	\$7,459,501.573 (61/61 items)	I
Bid Contact	Timothy Lunday tlunday@ellsworthinc.com Ph 405-418-4741	Address P.O. Box 10765 Midwest City, OK 73140	
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	bid bond uploaded to final item		
Agency Notes	:	Supplier Notes: bid bond uploaded to final item	Head Attch: 🕖
f Rudy Const	ruction Co.	\$7,472,738.60 (61/61 items)
Bid Contact	Doug Walker ppratt@rudycc.com Ph 405-478-9900	Address 3101 NE 63rd Street Oklahoma City, OK 73121	

City of Oklahoma City and its Trusts

-0342/00101-0343 -	Lake its it	10515	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	👔 (Status: This bid bond could not be verified)		
Agency Notes:		Supplier Notes:	Head Attch:
f Silver Star C	onstruction Company	\$9,855,000.00 (61/6	1 items)
Bid Contact	Amber Harris tim@silverstarconst.com Ph 405-793-1725	Address 2401 S Broadway Moore, OK 73160	
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTO	DRS	
Bid Bond	👔 (Status: This bid bond could not be verified)		
Bid Notes	BID BOND WOULD NOT UPLOAD ATTACHED AT	LINE ITEM 1 UNCLASSIFIED EXCAVATION	
Agency Notes:		Supplier Notes: BID BOND WOULD NOT UPLOAD ATTACHED AT LINE ITEM 1 UNCLAS EXCAVATION	Head Attch: SSIFIED

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #25701 - Aquatic Facilities Equipment and Supply

Creation Date	e Jan 25, 2024	End Date	Mar 6, 2024 10:00:00	AM CST	
Start Date	Feb 7, 2024 7:36:12 AM CST	Awarded Date	Not Yet Awarded		
Power Play	LLC			\$95.00) (43/43 items)
5	Shannon Hamelin <u>srhamelin@cox.net</u> Ph 918-809-8325	Addı	ress 12804 S Memoria Suite 114 Bixby, OK 74008	l Dr	
Bid Notes	Power Play, LLC is the sole representative Splashpad parts in Oklahoma. There are t aquatic play features and replacement pa City contracts with another company to p parts, said company will purchase all Vort plus freight that Power Play would sell dir prices resulting in a higher purchase price request.	housands of Vortex Aqua arts differ depending on sa purchase Vortex Aquatic S tex Aquatic Structure part rectly to the City of Oklaho	x Aquatic Structures , tic Structures Splashp aid part and time of y tructures aquatic pla s from Power Play, Ll pma City. Said compa	bad parts. Le ear. If the Ci y features a .C at the cu ny will marl	ead time for ity of Oklahoma nd replacemen rrent list price <-up Power Play
Agency Notes	5:		Aquatic Structures aquatic play featu depending on said City of Oklahoma company to purch aquatic play featu company will purc Structure parts fro current list price p would sell directly Said company will	d distributor fi c Play Solution a. There are th s Splashpad pares and replace d part and tim City contracts hase Vortex Ac res and replace chase all Vortes on Power Play plus freight that to the City of mark-up Pow er purchase p sole-source le	or Vortex Aquatic is and Splashpad iousands of Vortex arts. Lead time for cement parts differ e of year. If the with another quatic Structures cement parts, said ix Aquatic 7, LLC at the it Power Play Oklahoma City. <i>r</i> er Play prices rice for the City of
ltem #	Line Item		Unit Price	Qty/Unit	Total Price
2570101-01		Delivery: In Stock - First	Offer	1 / each	
Product Code Agency Notes			Supplier Product Supplier Notes: I approximately 1-2	n Stock Items:	delivery is

2570101-02	Delivery: Non Stock - First Offer		1 / each	
Product Code: Agency Notes:	Delivery, Norr SLOCK - First Orier	Supplier Product Supplier Notes: I	t Code: N/A Non Stock Ite 3 weeks or Ioi	nger. It depends on
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
2570102-01 Product Code: Agency Notes:	Website: Standard Website with Retail Pricing - First Offer	Supplier Product	We do not ha /e have previ r Manuals for	
2570102-02	Website: Standard Website Exceptions - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2570102-03	Website: Standard Website List - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Supplier Notes: I representative for Splashpad equipr	Power Play, L r Vortex Aqua	itic Structures

					Lot Total: \$0.00
ltem #	Line Item		Unit Price	Qty/Unit	Total Price
2570103-01		Catalogs or Price Lists: Catalogs or Price Lists - First Offer		1 / each	0.00%
Product Code: Agency Notes:			not have a catalog	Power Play, Ll Vortex Aqua nent and par nds of parts fo nent. Each pa charges assoc g or price list f t and replace	tic Structures ts in Oklahoma. or Vortex
2570103-02		Catalogs or Price Lists: Catalogs or Price Lists - First Offer		1 / each	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:	
2570103-03		Catalogs or Price Lists: Catalogs or Price Lists - First Offer		1 / each	
Product Code:					
Agency Notes:			Supplier Product Supplier Notes: F representative for Splashpad equipn	Power Play, Ll ⁻ Vortex Aqua	tic Structures
			Supplier Notes: F representative for	Power Play, Ll ⁻ Vortex Aqua	tic Structures

2570104-01	Store	efront: Storefront - First Offer	0.00%	1 / each	0.00%
Product Code: Agency Notes			Supplier Product Supplier Notes: F representative for Splashpad equipr have an office in E public storefront.	Power Play, Ll Vortex Aqua nent and par	tic Structures ts in Oklahoma. We
2570104-02	Store	efront: Storefront - First Offer		1 / each	
Product Code: Agency Notes			Supplier Product Supplier Notes:	Code:	
2570104-03		efront: Storefront - First Offer		1 / each	
Product Code: Agency Notes			Supplier Product Supplier Notes: F representative for Splashpad equipr	Power Play, Ll ⁻ Vortex Aqua	tic Structures ts in Oklahoma.
ltem #	Line Item		Unit Price	Qty/Unit	Lot Total: \$0.00 Total Price
2570105-01		_abor: Labor Rate - First Offer	\$95.00	1 / hour	\$95.00
Product Code: Agency Notes			Supplier Product Supplier Notes: T mobilization and t	: Code: This does not	

				Lot Total: \$95.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
2570106-01	Information: Vendor Information - First Offer		1 / each	
Product Code: Agency Notes		Supplier Product		
2570106-02	Information: Quality Control - First Offer		1 / each	
Product Code: Agency Notes		Supplier Product Supplier Notes:	t Code:	
		1		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
2570107-01	Fixed Cost Price Schedule: Calcium Chloride 50 lb bag - First Offer	\$0.00	1 / each	\$0.00
2570107-02	Fixed Cost Price Schedule: Calcium Chloride 50 lb bag - First Offer		1 / each	
Product Code: Agency Notes		Supplier Product	We do not sel	
	Fixed Cost Price Schedule: Calcium Hypochlorite 68% Granular 50 lb pail - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes		Supplier Product Supplier Notes: \		this product.
2570107-04	Fixed Cost Price Schedule: Calcium Hypochlorite 68% Granular 50 lb pail - First Offer		1 / each	
Product Code: Agency Notes		Supplier Product Supplier Notes: \		this product.

2570107-05	Fixed Cost Price Schedule: Isocyanuric Acid Granular 40 lb pail - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product	t Code:	
2570107-06	Fixed Cost Price Schedule: Isocyanuric Acid Granular 40 lb pail - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Supplier Notes: \		his product.
2570107-07	Fixed Cost Price Schedule: Muriatic Acid 31.5% 1 gal - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: \		his product.
2570107-08	Fixed Cost Price Schedule: Muriatic Acid 31.5% 1 gal - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Supplier Notes: \		his product.
2570107-09	Fixed Cost Price Schedule: Muriatic Acid 31.5% 15 gal carboy - First Offer	\$0.00	1 / each	\$0.00
Product Code:	Fixed Cost Price Schedule: Muriatic Acid 31.5% 15 gal carboy - First Offer	\$0.00 Supplier Product Supplier Notes: \	t Code:	
2570107-09 Product Code: Agency Notes: 2570107-10		Supplier Product Supplier Notes: \	t Code:	
Product Code: Agency Notes: 2570107-10 Product Code:	Fixed Cost Price Schedule: Muriatic Acid 31.5% 15 gal carboy - First Offer Fixed Cost Price Schedule: Muriatic Acid 31.5% 15 gal carboy - First Offer	Supplier Product Supplier Notes: \	t Code: We do not sell t 1 / each t Code:	his product.
Product Code: Agency Notes: 2570107-10 Product Code: Agency Notes:	Fixed Cost Price Schedule: Muriatic Acid 31.5% 15 gal carboy - First Offer	Supplier Product Supplier Notes: \ Supplier Product Supplier Notes: \	t Code: We do not sell t 1 / each t Code:	his product.
Product Code: Agency Notes: 2570107-10 Product Code: Agency Notes: 2570107-11 Product Code:		Supplier Product Supplier Notes: \ Supplier Product Supplier Notes: \	t Code: We do not sell t 1 / each t Code: We do not sell t 1 / each t Code:	his product. his product. \$0.00
Product Code: Agency Notes:	Fixed Cost Price Schedule: Muriatic Acid 31.5% 15 gal carboy - First Offer	Supplier Product Supplier Notes: \ Supplier Product Supplier Notes: \ \$0.00 Supplier Product Supplier Notes: \	t Code: We do not sell t 1 / each t Code: We do not sell t 1 / each t Code:	his product. \$0.00

2570107-13	Fixed Cost Price Schedule: Pulsar Plus Briquettes 50 lb pail - First Offer	\$0.00	1 / each	\$0.0
roduct Code: gency Notes:		Supplier Product Supplier Notes: \		nis product.
2570107-14	Fixed Cost Price Schedule: Pulsar Plus Briquettes 50 lb pail - First Offer		1 / each	
roduct Code: gency Notes:		Supplier Product Supplier Notes: \		nis product.
2570107-15	Fixed Cost Price Schedule: Soda Ash Granular 50 lb bag - First Offer	\$0.00	1 / each	\$0.00
roduct Code: gency Notes:		Supplier Product Supplier Notes: \		nis product.
2570107-16	Fixed Cost Price Schedule: Soda Ash Granular 50 lb bag - First Offer		1 / each	
roduct Code: gency Notes:		Supplier Product Supplier Notes: \		nis product.
2570107-17	Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer	\$0.00	1 / each	\$0.00
2570107-17 roduct Code: gency Notes:	Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer	\$0.00 Supplier Product Supplier Notes: \	t Code:	<u>.</u>
roduct Code:	Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer	Supplier Product Supplier Notes: \	t Code:	<u>.</u>
roduct Code: gency Notes:		Supplier Product Supplier Notes: \	t Code: We do not sell th 1 / each t Code:	his product.
2570107-18		Supplier Product Supplier Notes: \ Supplier Product Supplier Notes: \	t Code: We do not sell th 1 / each t Code:	his product.
2570107-18 roduct Code: gency Notes:	Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer	Supplier Product Supplier Notes: \ Supplier Product Supplier Notes: \	t Code: We do not sell th 1 / each t Code: We do not sell th 1 / each t Code:	his product. his product. \$0.0
2570107-18 2570107-18 roduct Code: gency Notes: 2570107-19 roduct Code:	Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer	Supplier Product Supplier Notes: \ Supplier Product Supplier Notes: \ \$0.00 Supplier Product Supplier Notes: \	t Code: We do not sell th 1 / each t Code: We do not sell th 1 / each t Code:	his product. his product. \$0.0

2570107-21	Fixed Cost Price Schedule: Tri Chlor tablets 3" 50 lb pail - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: \		l this product.
2570107-22	Fixed Cost Price Schedule: Tri Chlor tablets 3" 50 lb pail - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Supplier Notes: \		l this product.
2570107-23	Fixed Cost Price Schedule: Sodium Bisulfate 50 lb. bag - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: \		l this product.
2570107-24	Fixed Cost Price Schedule: Sodium Bisulfate 50 lb. bag - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Supplier Notes: \		ll this product.
2570107-25	Fixed Cost Price Schedule: Aquaperl 24# Harborlite Expanded Perlite - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: \		l this product.
2570107-26	Fixed Cost Price Schedule: Aquaperl 24# Harborlite Expanded Perlite - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Supplier Notes: \		ll this product.
2570107-27 F	Fixed Cost Price Schedule: �Acid Magic� 31.45% muratic acid � 15 gal - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: \		ll this product.
2570107-28 F	Fixed Cost Price Schedule: �Acid Magic� 31.45% muratic acid � 15 gal - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Supplier Notes: \		l this product.

			1		Lot Total: \$0.00
ltem #	Line Item		Unit Price	Qty/Unit	Total Price
2570108-01		Attachments: W-9 - First Offer		1 / each	
Product Code Agency Notes			Supplier Product Supplier Notes: S		
			·		Lot Total: \$0.00

Sunbelt Poo	ls, Inc.		\$1,738.5	4 (43/43 items)
<u>r</u>	Contact Rob Morgan Address 10555 Plano Rd <u>robm@sunbeltpools.com</u> Dallas, TX 75238 Ph 214-343-1133			
Bid Notes C	onstruction Labor is provided at \$75.00 per mnhr, portal to portal.			
	pecial order items and non-stock items freight to be pre-paid and added or approval.	d. Sunbelt to pro	ovide a freig	tht quote prior
Agency Notes		Supplier Notes: Construction Labor is provided \$75.00 per mnhr, portal to portal.		
		Special order items and non-stock items freight be pre-paid and added. Sunbelt to provide a freight quote prior for approval.		t to provide a
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
2570101-01	Delivery: In Stock - First Offer		1 / each	
Product Code: Agency Notes	:	Supplier Product	3-5 Business [Days
2570101-02	Delivery: Non Stock - First Offer		1 / each	
Product Code: Agency Notes		Supplier Product Code: Supplier Notes: 7-10 days unless items is custom, out of stock, or requires fabrication.		
		1		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
2570102-01	Website: Standard Website with Retail Pricing - First Offer	0.00%	1 / each	0.00%

Product Code: Agency Notes		Supplier Product Code: Supplier Notes: Sunbelt Pools does not utilize a website for sales.		
2570102-02	Website: Standard Website Exceptions - First Offer		1 / each	
Product Code: Agency Notes		Supplier Product Code: Supplier Notes: Sunbelt Pools does not utilize website for sales.		does not utilize a
2570102-03	Website: Standard Website List - First Offer		1 / each	
Product Code: Agency Notes	oduct Code: Supplier Product Code:			does not utilize a
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
2570103-01	Catalogs or Price Lists: Catalogs or Price Lists - First Offer	10.00%	1 / each	10.00%
Product Code: Agency Notes		Supplier Product Code: Supplier Notes:		
2570103-02	Catalogs or Price Lists: Catalogs or Price Lists - First Offer			
Product Code: Agency Notes		Supplier Product Code: Supplier Notes:		
2570103-03	Catalogs or Price Lists: Catalogs or Price Lists - First Offer		1 / each	
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:	
		-applier lautes.		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
2570104-01	Storefront: Storefront - First Offer	10.00%	1 / each	10.00%
Product Code: Agency Notes		Supplier Product Code: Supplier Notes:		
2570104-02	Storefront: Storefront - First Offer	Offer 1 / each		
Product Code: Agency Notes		Supplier Product Code: Supplier Notes:		
2570104-03	Storefront: Storefront - First Offer			
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:	
Series Notes		Sabbuel 140163.		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
2570105-01	Labor: Labor Rate - First Offer	\$135.00	1 / hour	\$135.00
Product Code: Agency Notes		Supplier Product Supplier Notes: F		

Rate is for Technical Services per mnhr.

				-ot Total: \$135.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
2570106-01	Information: Vendor Information - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Supplier Notes:	t Code:	
2570106-02	Information: Quality Control - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Supplier Notes:	t Code:	
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
2570107-01	Fixed Cost Price Schedule: Calcium Chloride 50 lb bag - First Offer	\$36.00	1 / each	\$36.00
Product Code Agency Notes		Supplier Product Supplier Notes:	t Code: 24554	
2570107-02	Fixed Cost Price Schedule: Calcium Chloride 50 lb bag - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Supplier Notes:	t Code:	
	- Fixed Cost Price Schedule: Calcium Hypochlorite 68% Granular 50 lb pail - First Offer	\$188.12	1 / each	\$188.12
Product Code		Supplier Product		\$100.12
Agency Notes		Supplier Notes:	coue. 2000	
2570107-04	Fixed Cost Price Schedule: Calcium Hypochlorite 68% Granular 50 lb pail - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
2570107-05	Fixed Cost Price Schedule: Isocyanuric Acid Granular 40 lb pail - First Offer	\$146.66	1 / each	\$146.66
Product Code Agency Notes		Supplier Product Supplier Notes:	t Code: 30210	
2570107-06	Fixed Cost Price Schedule: Isocyanuric Acid Granular 40 lb pail - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Supplier Notes:	t Code:	
2570107-07	Fixed Cost Price Schedule: Muriatic Acid 31.5% 1 gal - First Offer	\$7.25	1 / each	\$7.25
Product Code Agency Notes		Supplier Product Supplier Notes: S		f 4
2570107-08	Fixed Cost Price Schedule: Muriatic Acid 31.5% 1 gal - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
2570107-09	Fixed Cost Price Schedule: Muriatic Acid 31.5% 15 gal carboy - First Offer	\$122.72	1 / each	\$122.72
Product Code Agency Notes		Supplier Product Supplier Notes:	t Code: 7050	
2570107-10	Fixed Cost Price Schedule: Muriatic Acid 31.5% 15 gal carboy - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Supplier Notes:	t Code:	
2570107-11	Fixed Cost Price Schedule: Non Chlorine Shock Granular 50 lb pail - First Offer	\$247.23	1 / each	\$247.23
Product Code Agency Notes		Supplier Product Supplier Notes:	t Code: SAS	
2570107-12	Fixed Cost Price Schedule: Non Chlorine Shock Granular 50 lb pail - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Supplier Notes:		
2570107-13	· Fixed Cost Price Schedule: Pulsar Plus Briquettes 50 lb pail - First Offer	\$176.80	1 / each	\$176.80
23701-07-13	Tixed Cost Frice Schedule, Fulsal Flus bliquettes Solib pall - Filst Offer	\$170.00		φ170.0U

	Unit Price	Qty/Unit	Total Price
		Lot	Total: \$1,603.54
	Supplier Product Supplier Notes:	Code:	
	Supplier Notes:		
		: Code: 7015	
Fixed Cost Price Schedule: �Acid Magic� 31.45% muratic acid � 15 gal - First Offer	\$183.43	1 / each	\$183.43
		Code:	
Fixed Cost Price Schedule: Aquaperl 24# Harborlite Expanded Perlite - First Offer		1 / each	
Fixed Cost Price Schedule: Aquaperl 24# Harborlite Expanded Perlite - First Offer	\$48.00	1 / each	\$48.00
	Supplier Notes:		
Fixed Cost Price Schedule: Sodium Bisulfate 50 lb. bag - First Offer	Supplier Product		
Fixed Cost Price Schedule: Sodium Risulfate 50 lb bag - First Offer		1/each	
Fixed Cost Price Schedule: Sodium Bisulfate 50 lb. bag - First Offer	\$42.14	1 / each	\$42.14
	Supplier Product Supplier Notes:	Code:	
Fixed Cost Price Schedule: Tri Chlor tablets 3" 50 lb pail - First Offer	Cumulian D. 1		
			\$∠35.00
	Supplier Notes:		\$235.00
	Supplier Product		
	- ppiler Notes.	1 / each	
		: Code: 8194	
Fixed Cost Price Schedule: Soda Thiosulfate 50 lb bag - First Offer	\$110.00	1 / each	\$110.00
	Supplier Notes:		
FIXED COST FILE SCHEDUIE, SOUR DILARDOHALE SO ID DAG - FILST OTTER	Supplier Product		
	Supplier Notes:	1 / opch	
		: Code: 7500	
Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer	\$30.77	1 / each	\$30.77
	Supplier Notes:	coue.	
	Supplier Product		
			+23.12
		1/each	\$29.42
		Code:	
Fixed Cost Price Schedule: Pulsar Plus Briquettes 50 lb pail - First Offer		1 / each	
	Supplier Notes:		
	Fixed Cost Price Schedule: Pulsar Plus Briquettes 50 lb pail - First Offer Fixed Cost Price Schedule: Soda Ash Granular 50 lb bag - First Offer Fixed Cost Price Schedule: Soda Ash Granular 50 lb bag - First Offer Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer Fixed Cost Price Schedule: Soda Thiosulfate 50 lb bag - First Offer Fixed Cost Price Schedule: Soda Thiosulfate 50 lb bag - First Offer Fixed Cost Price Schedule: Soda Thiosulfate 50 lb bag - First Offer Fixed Cost Price Schedule: Tri Chlor tablets 3" 50 lb pail - First Offer Fixed Cost Price Schedule: Tri Chlor tablets 3" 50 lb pail - First Offer Fixed Cost Price Schedule: Sodium Bisulfate 50 lb. bag - First Offer Fixed Cost Price Schedule: Sodium Bisulfate 50 lb. bag - First Offer Fixed Cost Price Schedule: Sodium Bisulfate 50 lb. bag - First Offer Fixed Cost Price Schedule: Sodium Bisulfate 50 lb. bag - First Offer Fixed Cost Price Schedule: Sodium Bisulfate 50 lb. bag - First Offer Fixed Cost Price Schedule: Sodium Bisulfate 50 lb. bag - First Offer Fixed Cost Price Schedule: Sodium Bisulfate 50 lb. bag - First Offer Fixed Cost Price Schedule: Aquaperl 24# Harborlite Expanded Perlite - First Offer Fixed Cost Price Schedule: Aquaperl 24# Harborlite Expanded Perlite - First Offer	Supplier Product Supplier Notes: Fixed Cost Price Schedule: Soda Ash Granular 50 lb bag - First Offer Supplier Product Supplier Notes: Fixed Cost Price Schedule: Soda Ash Granular 50 lb bag - First Offer Supplier Notes: Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer Supplier Product Supplier Notes: Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer Supplier Product Supplier Notes: Fixed Cost Price Schedule: Soda Thiosulfate 50 lb bag - First Offer Supplier Product Supplier Product </td <td>Fixed Cost Price Schedule: Pulsar Plus Briquettes 50 lb pail - First Offer 1 / each Supplier Note: Supplier Note: Fixed Cost Price Schedule: Soda Ash Granular 50 lb bag - First Offer \$29.42 1 / each Supplier Note: Supplier Note: 1 / each Fixed Cost Price Schedule: Soda Ash Granular 50 lb bag - First Offer \$10 / each Supplier Note: Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer \$30.77 1 / each Supplier Note: Supplier Product Code: Supplier Note: Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer \$10.00 1 / each Supplier Note: \$10 / each Supplier Note: \$10 / each Fixed Cost Price Schedule: Soda Thiosulfate 50 lb bag - First Offer \$11.0.00 1 / each Supplier Note: \$10 / each Supplier Note: \$10 / each Fixed Cost Price Schedule: Soda Thiosulfate 50 lb bag - First Offer \$1 / each \$10 / each Supplier Note: \$10 / each \$235.00 1 / each Supplier Note: \$10 / each \$20 / each \$235.00 1 / each Supplier Note: \$235.00 1 / each \$20 / each \$20 / each</td>	Fixed Cost Price Schedule: Pulsar Plus Briquettes 50 lb pail - First Offer 1 / each Supplier Note: Supplier Note: Fixed Cost Price Schedule: Soda Ash Granular 50 lb bag - First Offer \$29.42 1 / each Supplier Note: Supplier Note: 1 / each Fixed Cost Price Schedule: Soda Ash Granular 50 lb bag - First Offer \$10 / each Supplier Note: Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer \$30.77 1 / each Supplier Note: Supplier Product Code: Supplier Note: Fixed Cost Price Schedule: Soda Bicarbonate 50 lb bag - First Offer \$10.00 1 / each Supplier Note: \$10 / each Supplier Note: \$10 / each Fixed Cost Price Schedule: Soda Thiosulfate 50 lb bag - First Offer \$11.0.00 1 / each Supplier Note: \$10 / each Supplier Note: \$10 / each Fixed Cost Price Schedule: Soda Thiosulfate 50 lb bag - First Offer \$1 / each \$10 / each Supplier Note: \$10 / each \$235.00 1 / each Supplier Note: \$10 / each \$20 / each \$235.00 1 / each Supplier Note: \$235.00 1 / each \$20 / each \$20 / each

2570108-01	Attachments: W-9 - First Offer	1 / each	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
		Lc	ot Total: \$0.00

Tresha Williams	Angee Wagner	Brett Rangel
City Clerk	Purchasing Agent	Auditor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.